

S. A. Avdonin, V. S. Mikhaylov

SPECTRAL ESTIMATION PROBLEM IN INFINITE DIMENSIONAL SPACES

ABSTRACT. We consider the generalized spectral estimation problem in infinite dimensional spaces. We solve this problem using the boundary control approach to inverse theory and provide an application to the initial boundary value problem for a hyperbolic system.

§1. INTRODUCTION

The classical spectral estimation problem consists of the recovery of the coefficients $a_n, \lambda_k, k = 1, \dots, N, N \in \mathbb{N}$ of a signal

$$s(t) = \sum_{n=1}^N a_n e^{\lambda_n t}, \quad t \geq 0$$

from the given observations $s(j), j = 0, \dots, 2N - 1$, where the coefficients a_k, λ_k may be arbitrary complex numbers. The literature describing various methods for solving the spectral estimation problem is very extensive: see for example the list of references in [6].

In papers [2, 3] a new approach to this problem was proposed. In this approach the signal $s(t)$ was treated as a kernel of certain convolution operator corresponding to an input-output map for some linear discrete-time dynamical system. While the system realized from the input-output map is not unique, the coefficients a_n and λ_n can be determined uniquely using the non-selfadjoint version of the boundary control method [1].

Later on the infinite-dimensional version of this method has been developed in [6]. More precisely, the problem of the recovering the coefficients $a_k, \lambda_k \in \mathbb{C}, k \in \mathbb{N}$, of the given signal

$$s(t) = \sum_{k=1}^{\infty} a_k e^{\lambda_k t}, \quad t \in (0, T),$$

Key words and phrases: spectral estimation problem, boundary control method, identification problem.

The research was supported by RFFI 11-01-00407A, 12-01-31446 and 14-01-00535.

provided the sum converges in $L_2(0, T)$ was solved there. In the present paper we solve the so-called generalized spectral estimation problem. It is set up in the following way: to recover the coefficients $a_k(t)$, λ_k , $k \in \mathbb{N}$, of a signal

$$S(t) = \sum_{k=1}^{\infty} a_k(t) e^{\lambda_k t}, \quad t \in (0, T), \quad (1.1)$$

from the given data $S \in L_2(0, T)$. We assume that T is a positive number, $\lambda_k \in \mathbb{C}$ and for each k , $a_k(t) = \sum_{i=0}^{L_k} a_k^i t^i$ are polynomials of the order L_k with complex valued coefficients a_k^i .

In Sec. 2, we recover the unknown parameters λ_k , L_k , a_k^i ; $i = 0, \dots, L_k$, $k \in \mathbb{N}$, from $S(t)$, $t \in (0, T)$. In Sec. 3, as an application of the generalized spectral estimation, we consider the continuation problem of the inverse dynamical data in the identification problem for the first order hyperbolic system.

§2. SPECTRAL ESTIMATION. THE CASE OF MULTIPLE POLES

We consider the dynamical system in a complex Hilbert space H :

$$\dot{x}(t) = Ax(t) + bf(t), \quad t \in (0, T), \quad x(0) = 0. \quad (2.1)$$

Here $b \in H$, $f \in L_2(0, T)$, and we assume that the spectrum of the operator A , $\{\lambda_k\}_{k=1}^{\infty}$ is not simple. We denote the algebraic multiplicity of λ_k by L_k , $k \in \mathbb{N}$, and assume also that the set of all root vectors $\{\phi_k^i\}$, $i = 1, \dots, L_k$, $k \in \mathbb{N}$, forms a Riesz basis in H . Here the vectors from the chain $\{\phi_k^i\}_{i=1}^{L_k}$, $k \in \mathbb{N}$, satisfy the equations

$$(A - \lambda_k) \phi_k^1 = 0, \quad (A - \lambda_k) \phi_k^i = \phi_k^{i-1}, \quad 2 \leq i \leq L_k.$$

Along with (2.1), we consider the dynamical system for the adjoint operator:

$$\dot{y}(t) = A^* y(t) + dg(t), \quad t \in (0, T), \quad y(0) = 0, \quad (2.2)$$

where $d \in H$, $g \in L_2(0, T)$. The spectrum of A^* is $\{\bar{\lambda}_k\}_{k=1}^{\infty}$ and the root vectors $\{\psi_k^i\}_{i=1}^{L_k}$, $i = 1, \dots, L_k$, $k \in \mathbb{N}$, also form a Riesz basis in H and satisfy the equations

$$(A^* - \bar{\lambda}_k) \psi_k^{L_k} = 0, \quad (A^* - \bar{\lambda}_k) \psi_k^i = \psi_k^{i+1}, \quad 1 \leq i \leq L_k - 1.$$

Moreover, the root vectors of A and A^* are normalized in accordance with

$$\begin{aligned} \langle \phi_k^i, \psi_l^j \rangle &= 0 \text{ if } k \neq l \text{ or } i \neq j; \\ \langle \phi_k^i, \psi_k^i \rangle &= 1, \quad i = 1, \dots, L_k, \quad k \in \mathbb{N}. \end{aligned}$$

We consider f and g as the inputs of the systems (2.1) and (2.2) and define the outputs z and w by the formulas

$$z(t) = \langle x(t), d \rangle, \quad w(t) = \langle y(t), b \rangle.$$

Suppose that the vector b has a representation $b = \sum_{k=1}^{\infty} \sum_{i=1}^{L_k} b_k^i \phi_k^i$. We look for the solution to (2.1) in the form

$$x(t) = \sum_{k=1}^{\infty} \sum_{i=1}^{L_k} c_k^i(t) \phi_k^i. \quad (2.3)$$

Plugging (2.3) into (2.1), multiplying by ψ_k^i , $i = 1, \dots, L_k$, $k \in \mathbb{N}$, we get the following equations for $c_k^i(t)$:

$$\begin{aligned} \dot{c}_k^{L_k}(t) &= \lambda_k c_k^{L_k}(t) + b_k^{L_k} f(t), \quad c_k^{L_k}(0) = 0, \\ \dot{c}_k^i(t) &= \lambda_k c_k^i(t) + c_k^{i+1}(t) + b_k^i f(t), \quad c_k^i(0) = 0, \quad i = 1, \dots, L_k - 1. \end{aligned}$$

Solving the system of ODEs we find the coefficients $c_k^i(t)$:

$$\begin{aligned} c_k^{L_k}(t) &= \int_0^t e^{\lambda_k(t-\tau)} b_k^{L_k} f(\tau) d\tau, \\ c_k^{L_k-1}(t) &= \int_0^t e^{\lambda_k(t-\tau)} \left[(t-\tau) b_k^{L_k} + b_k^{L_k-1} \right] f(\tau) d\tau, \\ c_k^{L_k-2}(t) &= \int_0^t e^{\lambda_k(t-\tau)} \left[\frac{(t-\tau)^2}{2} b_k^{L_k} + (t-\tau) b_k^{L_k-1} + b_k^{L_k-2} \right] f(\tau) d\tau, \\ c_k^1(t) &= \int_0^t e^{\lambda_k(t-\tau)} \left[\frac{(t-\tau)^{L_k-1}}{(L_k-1)!} b_k^{L_k} + \dots + (t-\tau) b_k^2 + b_k^1 \right] f(\tau) d\tau. \end{aligned}$$

Similarly, we represent the vector d in the form $d = \sum_{k=1}^{\infty} \sum_{i=1}^{L_k} d_k^i \psi_k^i$. Then the output z can be written as

$$z(t) = \langle x(t), d \rangle = \sum_{k=1}^{\infty} \sum_{i=1}^{L_k} c_k^i(t) d_k^i = \int_0^t r(t-\tau) f(\tau) d\tau,$$

where $r(t)$ is defined as

$$r(t) = \sum_{k=1}^{\infty} e^{\lambda_k t} \left[a_k^1 + a_k^2 t + a_k^3 \frac{t^2}{2} + \dots + a_k^{L_k-1} \frac{t^{L_k-2}}{(L_k-2)!} + a_k^{L_k} \frac{t^{L_k-1}}{(L_k-1)!} \right]. \quad (2.4)$$

Here we introduced the notations

$$\begin{aligned} a_k^1 &= \sum_{i=1}^{L_k} b_k^i d_k^i, & a_k^2 &= \sum_{i=2}^{L_k} b_k^i d_k^{i-1}, & a_k^3 &= \sum_{i=3}^{L_k} b_k^i d_k^{i-2}, \dots, \dots, a_k^{L_k-1} \\ &= \sum_{i=L_k-1}^{L_k} b_k^i d_k^{i-(L_k-2)}, & a_k^{L_k} &= b_k^{L_k} d_k^1, & k &\in \mathbb{N}. \end{aligned} \quad (2.5)$$

It is important to notice that the *response function* $r(t)$ has the form of the series in (1.1).

Looking for the solution of (2.2) in the form

$$y(t) = \sum_{k=1}^{\infty} \sum_{i=1}^{L_k} h_k^i(t) \psi_k^i,$$

we derive the following system of ODEs for $h_k^i(t)$, $i = 1, \dots, L_k$, $k \in \mathbb{N}$:

$$\begin{aligned} \dot{h}_k^1(t) &= \bar{\lambda}_k h_k^1(t) + d_k^1 g(t), & h_k^1(0) &= 0, \\ \dot{h}_k^i(t) &= \bar{\lambda}_k h_k^i(t) + h_k^{i-1}(t) + d_k^i g(t), & h_k^i(0) &= 0, \quad i = 2, \dots, L_k. \end{aligned}$$

Solving this system we obtain the coefficients $h_k^i(t)$:

$$h_k^1(t) = \int_0^t e^{\bar{\lambda}_k(t-\tau)} d_k^1 g(\tau) d\tau,$$

$$\begin{aligned}
d_k^2(t) &= \int_0^t e^{\bar{\lambda}_k(t-\tau)} [(t-\tau)d_k^1 + d_k^2] g(\tau) d\tau, \\
h_k^3(t) &= \int_0^t e^{\bar{\lambda}_k(t-\tau)} \left[\frac{(t-\tau)^2}{2} d_k^1 + (t-\tau)d_k^2 + d_k^3 \right] g(\tau) d\tau, \\
h_k^{L_k}(t) &= \int_0^t e^{\bar{\lambda}_k(t-\tau)} \left[\frac{(t-\tau)^{L_k-1}}{(L_k-1)!} d_k^1 + \dots + (t-\tau)d_k^{L_k-1} + d_k^{L_k} \right] g(\tau) d\tau,
\end{aligned}$$

The output of the system (2.2) is given by

$$w(t) = \langle y(t), b \rangle = \sum_{k=1}^{\infty} \sum_{i=1}^{L_k} h_k^i(t) b_k^i = \int_0^t \overline{r(t-\tau)} g(\tau) d\tau.$$

We introduce now the *connecting operator* $C^T : L_2(0, T) \mapsto L_2(0, T)$ defined through its bilinear form by the formula:

$$\langle C^T f, g \rangle = \langle x(T), y(T) \rangle.$$

Lemma 1. *The connecting operator C^T has a representation $(C^T f)(t) = (Rf)(2T - t)$, or*

$$(C^T f)(t) = \int_0^T r(2T - t - \tau) f(\tau) d\tau.$$

Proof. We introduce the function $\chi(s, t) := (x(s), y(t))_H$. It is straightforward to check that for $s, t > 0$, this function satisfies the equation

$$\chi_t(s, t) - \chi_s(s, t) = (r * f)(s)g(t) - (r * g)(t)f(s)$$

with the boundary conditions $\chi(0, t) = \chi(s, 0) = 0$. This initial boundary value problem can be solved explicitly. Since $x(T)$ and $y(T)$ are independent of the value of $f(t)$ and $g(t)$ for $t > T$, we may put $f(t) = g(t) = 0$, if $t > T$, when compute $(C^T f, g)_H$. Taking this into account, we obtain:

$$\langle C^T f, g \rangle = \chi(T, T) = \int_0^T \int_0^{2T-\gamma} r(2T - \gamma - \tau) f(\tau) g(\gamma) d\tau d\gamma,$$

and therefore,

$$(C^T f)(t) = \int_0^{2T-t} r(2T-t-\tau)f(\tau) d\tau = \int_0^T r(2T-t-\tau)f(\tau) d\tau. \quad (2.6) \quad \square$$

Next, we demonstrate how to find λ_k , L_k and a_k^i , $i = 1, \dots, L_k$, $k \in \mathbb{N}$, given the function $r(t)$ in the form (1.1). To do that we use the ideas of the boundary control method, more precisely, the possibility to extract the spectral data from the dynamical data (see [7, 8]). We assume that the system (2.1) is spectrally controllable in time T . This means that, for any $i \in \{1, \dots, L_k\}$ and any $k \in \mathbb{N}$, there exists $\{f_k^i\} \in H_0^1(0, T)$, such that $x_k^{f_k^i}(T) = \phi_k^i$. By the definition of $\{f_k^i\}$,

$$\dot{x}_k^{f_k^1}(T) = Ax_k^{f_k^1}(T) + bf_k^1(T) = A\phi_k^1 = \lambda_k\phi_k^1 = \lambda_k x_k^{f_k^1}(T), \quad k \in \mathbb{N}, \quad (2.7)$$

$$\begin{aligned} \dot{x}_k^{f_k^i}(T) &= A\phi_k^i = \lambda_k\phi_k^i + \phi_k^{i-1} = \lambda_k x_k^{f_k^i}(T) + x_k^{f_k^{i-1}}(T), \\ & \quad i = 2, \dots, L_k, \quad k \in \mathbb{N}. \end{aligned} \quad (2.8)$$

The definition of the operator C^T and equations (2.7) imply that for any $g \in L_2(0, T)$ one has

$$\begin{aligned} \langle C^T f_k^1, g \rangle &= \langle x_k^{f_k^1}(T), y^g(T) \rangle = \langle \dot{x}_k^{f_k^1}(T), y^g(T) \rangle \\ &= \langle \lambda_k x_k^{f_k^1}(T), y^g(T) \rangle = \langle \lambda_k C^T f_k^1, g \rangle, \quad k \in \mathbb{N}. \end{aligned}$$

Similarly, making use of (2.8) for $k = 1, \dots, \infty$, $2 \leq i \leq L_k$, we obtain

$$\begin{aligned} \langle C^T f_k^i, g \rangle &= \langle x_k^{f_k^i}(T), y^g(T) \rangle = \langle \dot{x}_k^{f_k^i}(T), y^g(T) \rangle \\ &= \langle \lambda_k x_k^{f_k^i}(T) + x_k^{f_k^{i-1}}(T), y^g(T) \rangle = \langle \lambda_k C^T f_k^i + C^T f_k^{i-1}, g \rangle. \end{aligned}$$

Using (2.6), one gets the following integral eigenvalue equations for finding λ_k and f_k^i , $1 \leq i \leq L_k$, $k \in \mathbb{N}$:

$$\begin{aligned} \int_0^T r(2T-t-\tau)f_k^1(\tau) - \lambda_k r(2T-t-\tau)f_k^1(\tau) d\tau &= 0, \\ \int_0^T r(2T-t-\tau)f_k^i(\tau) - \lambda_k r(2T-t-\tau)f_k^i(\tau) - r(2T-t-\tau)f_k^{i-1}(\tau) d\tau &= 0. \end{aligned}$$

Integrating by parts we finally have:

$$\int_0^T \dot{r}(2T-t-\tau)f_k^1(\tau) - \lambda_k r(2T-t-\tau)f_k^1(\tau) d\tau = 0,$$

$$\int_0^T \dot{r}(2T-t-\tau)f_k^i(\tau) - \lambda_k r(2T-t-\tau)f_k^i(\tau) - r(2T-t-\tau)f_k^{i-1}(\tau) d\tau = 0.$$

This leads to the following conclusion: the set $\lambda_k, f_k^i, i = 1, \dots, L_k, k \in \mathbb{N}$, are eigenvalues and root vectors of the following generalized eigenvalue problem in $L_2(0, T)$:

$$\int_0^T \dot{r}(2T-t-\tau)f(\tau) - \lambda r(2T-t-\tau)f(\tau) d\tau = 0. \quad (2.9)$$

Using the same arguments we can deduce that $\bar{\lambda}_k, g_k^i, k = 1, \dots, \infty, i = 1, \dots, L_k$ are eigenvalues and root vectors of the eigenvalue problem

$$\int_0^T \overline{\dot{r}(2T-t-\tau)}g(\tau) - \overline{\lambda r(2T-t-\tau)}g(\tau) d\tau = 0. \quad (2.10)$$

We notice that solving (2.9) and (2.10) yields eigenvalues λ_k , their multiplicities $L_k, k \in \mathbb{N}$, and non-normalized functions f_k^i and g_k^i for which $x^{f_k^i}(T) = \alpha_k^i \phi_k^i, y^{g_k^i}(T) = \beta_k^i \psi_k^i$, with some (unknown) constants α_k^i, β_k^i .

Now we describe the algorithm of recovering $a_k^1, \dots, a_k^{L_k}, k \in \mathbb{N}$ (see the representation (2.4)). We normalize the solutions to (2.9), (2.10) by the rule

$$\langle C^T \tilde{f}_k^i, \tilde{g}_k^i \rangle = 1. \quad (2.11)$$

So if $x^{f_k^i}(T) = \phi_k^i$ and $y^{g_k^i}(T) = \psi_k^i$, then $x^{\tilde{f}_k^i}(T) = \alpha_k^i \phi_k^i$ and $y^{\tilde{g}_k^i}(T) = \frac{1}{\alpha_k^i} \psi_k^i$. In the case we define

$$\tilde{b}_k^i = \langle y^{\tilde{g}_k^i}(T), b \rangle = \int_0^T \bar{r}(T-\tau) \tilde{g}_k^i(\tau) d\tau, \quad (2.12)$$

$$\tilde{d}_k^i = \langle x^{\tilde{f}_k^i}(T), d \rangle = \int_0^T r(T-\tau) \tilde{f}_k^i(\tau) d\tau, \quad (2.13)$$

then (see (2.5))

$$a_k^1 = \sum_{i=1}^{L_k} \tilde{b}_k^i \tilde{d}_k^i. \quad (2.14)$$

Denote by ∂ and I the operator of differentiation and unitary operator. Bearing in mind (2.9), which we rewrite as $C^T (\partial - \lambda_k I) f_k^i = C^T f_k^{i-1}$, we evaluate

$$\langle C^T (\partial - \lambda_k I) \tilde{f}_k^i, \tilde{g}_k^{i-1} \rangle = \alpha_k^i \langle C^T f_k^{i-1}, \tilde{g}_k^{i-1} \rangle = \frac{\alpha_k^i}{\alpha_k^{i-1}}.$$

So, normalizing the solutions to (2.9), (2.10) by the rule

$$\langle C^T (\partial - \lambda_k I) \hat{f}_k^i, \hat{g}_k^{i-1} \rangle = 1,$$

we can define

$$\hat{b}_k^i = \int_0^T \bar{r}(T - \tau) \hat{g}_k^i(\tau) d\tau, \quad (2.15)$$

$$\hat{d}_k^i = \int_0^T r(T - \tau) \hat{f}_k^i(\tau) d\tau. \quad (2.16)$$

and compute $a_k^2 = \sum_{i=2}^{L_k} \hat{b}_k^i \hat{d}_k^{i-1}$, cf. (2.5).

Notice that since C^T commutes with the differentiation, we have for $l < i$: $[C^T (\partial - \lambda_k I)]^l f_k^i = C^T f_k^{i-l}$. Then

$$\langle [C^T (\partial - \lambda_k I)]^l \tilde{f}_k^i, \tilde{g}_k^{i-l} \rangle = \alpha_k^i \langle C^T f_k^{i-l}, \tilde{g}_k^{i-l} \rangle = \frac{\alpha_k^i}{\alpha_k^{i-l}}.$$

Again, normalizing the solutions to (2.9), (2.10) (for $i > l$) by the rule

$$\langle [C^T (\partial - \lambda_k I)]^l \hat{f}_k^i, \hat{g}_k^{i-l} \rangle = 1, \quad (2.17)$$

we define \hat{b}_k^i, \hat{d}_k^i by (2.12), (2.13) and evaluate

$$a_k^l = \sum_{i=l}^{L_k} \hat{b}_k^i \hat{d}_k^{i-l}. \quad (2.18)$$

We conclude this section with the algorithm for solving the spectral estimation problem: suppose that we are given with the function $r \in L_2(0, 2T)$

of the form (2.4) and the family $\bigcup_{k=1}^{\infty} \{e^{\lambda_k t}, \dots, t^{L_k-1} e^{\lambda_k t}\}$ is minimal in $L_2(0, T)$. Then to recover λ_k, L_k and coefficients of polynomials, one should follow the

Algorithm

- a) solve generalized eigenvalue problems (2.9), (2.10) to find λ_k, L_k and non-normalized controls.
- b) Normalize $\tilde{f}_k^i, \tilde{g}_k^i$ by (2.11), define $\tilde{b}_k^i, \tilde{d}_k^i$ by (2.12), (2.13) to recover a_k^1 by (2.14) (see (2.4), (2.5))
- c) Normalize \hat{f}_k^i, \hat{g}_k^i by (2.17), define $\tilde{b}_k^i, \hat{d}_k^i$ by (2.15), (2.16) to recover a_k^1 by (2.18) (see (2.4), (2.5))

§3. CONTINUATION OF THE INVERSE DATA FOR THE FIRST ORDER HYPERBOLIC SYSTEM

We consider the initial boundary value problem

$$\frac{\partial}{\partial t} \begin{pmatrix} u \\ v \end{pmatrix} - \frac{\partial}{\partial x} \begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix} \begin{pmatrix} u \\ v \end{pmatrix} - \begin{pmatrix} p_{11} & p_{12} \\ p_{21} & p_{22} \end{pmatrix} \begin{pmatrix} u \\ v \end{pmatrix} = 0, \\ 0 \leq x \leq 1, \quad t > 0, \quad (3.1)$$

$$u(0, t) = u(1, t) = 0, \quad t > 0, \quad (3.2)$$

$$\begin{pmatrix} u(x, 0) \\ v(x, 0) \end{pmatrix} = \begin{pmatrix} d_1(x) \\ d_2(x) \end{pmatrix}, \quad 0 \leq x \leq 1. \quad (3.3)$$

Here $p_{ij} \in C^1([0, 1]; \mathbb{C})$ and $d_1, d_2 \in L_2(0, 1; \mathbb{C})$. We fix some $T > 0$ and define $R(t) := \{v(0, t), v(1, t)\}$, $0 \leq t \leq T$. The problem of the recovering unknown potential p_{ij} and initial state $c_{1,2}$ has been considered in [9, 10], where the authors established the uniqueness result for large enough T . The inverse problem by one measurement for the one-dimensional Schrödinger equation has been considered in [5], and the procedure of the recovering the potential and the initial state has been proposed. Here we focus on the problem of the continuation of the inverse data: we assume that $R(t)$ is known on the interval $(0, T)$ and recover it on the whole real axis.

We introduce the notations $B = \begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix}$, $P = \begin{pmatrix} p_{11} & p_{12} \\ p_{21} & p_{22} \end{pmatrix}$, $D = \begin{pmatrix} d_1 \\ d_2 \end{pmatrix}$, and the operator A acting by the rule

$$A\varphi = \left(B \frac{d}{dx} + P \right) \varphi, \quad 0 \leq x \leq 1$$

with the domain

$$D(A) = \left\{ \varphi = \begin{pmatrix} \varphi_1 \\ \varphi_2 \end{pmatrix} \in H_1(0, 1; \mathbb{C}^2) \mid \varphi_1(0) = \varphi_1(1) = 0 \right\}.$$

The adjoint operator

$$A^* \psi = \left(-B \frac{d}{dx} + P^T \right) \psi, \quad 0 \leq x \leq 1,$$

has the domain

$$D(A^*) = \left\{ \psi = \begin{pmatrix} \psi_1 \\ \psi_2 \end{pmatrix} \in H^1(0, 1; \mathbb{C}^2) \mid \psi_1(0) = \psi_1(1) = 0 \right\}.$$

The spectrum of the operator A has the following structure (see [9, 10]): $\sigma(A) = \Sigma_1 \cup \Sigma_2$, where $\Sigma_1 \cap \Sigma_2 = \emptyset$ and there exists $N_1 \in \mathbb{N}$ such that

- 1) Σ_1 consists of $2N_1 - 1$ eigenvalues including algebraical multiplicities;
- 2) Σ_2 consists of infinite number of eigenvalues of multiplicity one;
- 3) root vectors of A form a Riesz basis in $L_2(0, 1; \mathbb{C}^2)$.

Let m denote the algebraical multiplicity of eigenvalue λ , and we introduce the notations $e_1 = \begin{pmatrix} 1 \\ 0 \end{pmatrix}$,

$$\begin{aligned} \Sigma_1 &= \{ \lambda^i \in \sigma(A), \quad m_i \geq 2, \quad 1 \leq i \leq N \}, \\ \Sigma_2 &= \{ \lambda_n \in \sigma(A), \quad \lambda_n \text{ is simple}, \quad n \in \mathbb{Z} \}. \end{aligned}$$

The root vectors are introduced by the following way:

$$\begin{aligned} (A - \lambda^i) \phi_1^i &= 0, \quad (A - \lambda^i) \phi_j^i = \phi_{j-1}^i, \quad 2 \leq j \leq m_i, \\ \phi_j^i(0) &= e_1, \quad \phi_j^i \in D(A), \quad 1 \leq j \leq m_i. \end{aligned}$$

For the adjoint operator the following equalities are valid:

$$\begin{aligned} (A^* - \bar{\lambda}^i) \psi_{m_i}^i &= 0, \quad (A^* - \bar{\lambda}^i) \psi_j^i = \psi_{j+1}^i, \quad 1 \leq j \leq m_i - 1, \\ \psi_j^i(0) &= e_1, \quad \psi_j^i \in D(A^*), \quad 1 \leq j \leq m_i. \end{aligned}$$

For the simple eigenvalues we have:

$$\begin{aligned} (A - \lambda_n) \phi_n &= 0, \quad (A^* - \bar{\lambda}_n) \psi_n = 0, \\ \phi_n(0) &= \psi_n(0) = e_1, \quad \phi_n \in D(A), \quad \psi_n \in D(A^*). \end{aligned}$$

Moreover, the following biorthogonality conditions hold:

$$\begin{aligned} (\phi_j^i, \psi_n) &= 0, \quad (\phi_n, \psi_j^i) = 0, \quad (\phi_k, \psi_n) = 0, \\ (\phi_j^i, \psi_l^k) &= 0 \quad \text{if } i \neq k \text{ or } j \neq l. \end{aligned}$$

Then we set

$$\begin{aligned}\rho_j^i &= (\phi_j^i, \psi_j^i), \quad i = 1, \dots, N, \quad j = 1, \dots, m_i, \\ \rho_n &= (\phi_n, \psi_n), \quad n \in \mathbb{Z},\end{aligned}$$

and introduce the spectral data:

$$S(P) = \left\{ \lambda^i, m_i, \rho_j^i \right\}_{\substack{1 \leq j \leq m_i \\ 1 \leq i \leq N}} \cup \{ \lambda_n, \rho_n \}_{n \in \mathbb{Z}}$$

We represent the initial state as the series:

$$D = \sum_{i=1}^N \sum_{j=1}^{m_i} d_j^i \phi_j^i(x) + \sum_{n \in \mathbb{Z}} d_n \phi_n(x). \quad (3.4)$$

We are looking for the solution to (3.1)–(3.3) in the form

$$\begin{pmatrix} u \\ v \end{pmatrix}(x, t) = \sum_{i=1}^N \sum_{j=1}^{m_i} c_j^i(t) \phi_j^i(x) + \sum_{n \in \mathbb{Z}} c_n(t) \phi_n(x).$$

Using the method of moments we can derive the system of ODE's for c_j^i , $i \in \{1, \dots, N\}$, $j \in \{1, \dots, m_i\}$; c_n , $n \in \mathbb{Z}$ solving which we obtain

$$\begin{aligned}c_j^i(t) &= e^{\lambda^i t} \left[d_j^i + d_{j+1}^i t + d_{j+2}^i \frac{t^2}{2} + \dots + d_{m_i}^i \frac{t^{m_i-j}}{(m_i-j)!} \right], \\ c_n(t) &= d_n e^{\lambda_n t}.\end{aligned}$$

Notice that the response $\{v(0, t), v(1, t)\}$ has a form depicted in (1.1):

$$v(0, t) = \sum_{i=1}^N e^{\lambda^i t} a_i^0(t) + \sum_{n \in \mathbb{Z}} e^{\lambda_n t} d_n (\phi_n(0))_2, \quad (3.5)$$

$$v(1, t) = \sum_{i=1}^N e^{\lambda^i t} a_i^1(t) + \sum_{n \in \mathbb{Z}} e^{\lambda_n t} d_n (\phi_n(1))_2, \quad (3.6)$$

where the coefficients of $a_i^0(t) = \sum_{k=0}^{m_i-1} \alpha_k^i t^k$ are given by

$$\begin{aligned}\alpha_0^i &= \sum_{l=1}^{m_i} d_l^i (\phi_l^i(0))_2, & \alpha_1^i &= \sum_{l=2}^{m_i} d_l^i (\phi_{l-1}^i(0))_2, \\ \alpha_2^i &= \frac{1}{2} \sum_{l=3}^{m_i} d_l^i (\phi_{l-2}^i(0))_2, \dots, & \alpha_k^i &= \frac{1}{(k-1)!} \sum_{l=k+1}^{m_i} d_l^i (\phi_{l-k}^i(0))_2, \dots \\ \alpha_{m_i-1}^i &= \frac{1}{(m_i-1)!} d_{m_i}^i (\phi_1^i(0))_2.\end{aligned}$$

The coefficients $a_i^1(t)$, $i = 1, \dots, N$ are defined by the similar formulae.

We introduce the following

Definition 1. *The state $D \in L_2((0, 1); \mathbb{C}^2)$ is generic if all the Fourier coefficients in the expansion (3.4) are not equal to zero.*

We assume below that the initial state D is generic. The meaning of this restriction is clear – if the initial state is not generic, say $d_k = 0$ for some $k \in \mathbb{Z}$, the response (3.5), (3.6) does not contain any information on λ_k .

We introduce the notation $U := \begin{pmatrix} u \\ v \end{pmatrix}$ and consider the dynamical system with the boundary control $f \in L_2(\mathbb{R}_+)$

$$\begin{aligned}U_t - AU &= 0, & 0 \leq x \leq 1, & \quad t > 0, \\ u(0, t) &= f(t), & u(1, t) &= 0, \quad t > 0, \\ U(x, 0) &= 0.\end{aligned}$$

It is not difficult to show that this system is exactly controllable in time $T \geq 2$. This implies (see [4]) that the family $\bigcup_{i=1}^N \{e^{\lambda_i t}, \dots, t^{m_i-1} e^{\lambda_i t}\} \cup \{e^{i\lambda_n t}\}_{n \in \mathbb{Z}}$ forms a Riesz basis in a closure of its linear span in $L_2((0, T); \mathbb{C})$. Because of this and the fact that each component of the response $\{v(0, t), v(1, t)\}$ has the form of (1.1), we can apply the method from the previous section and recover λ^i , m_i , coefficients of polynomials $a_i^{0,1}(t)$ $i = 1, \dots, N$, λ_n , $n \in \mathbb{Z}$. The latter allows one to extend the inverse data $R(t)$ to all values of $t \in \mathbb{R}$ by formulas (3.5), (3.6). This is important for solving the identification problem, see [10].

REFERENCES

1. S. A. Avdonin, M. I. Belishev, *Boundary control and dynamical inverse problem for nonselfadjoint Sturm–Liouville operator*. — Control Cybernetics **26** (1996), 429–440.
2. S. A. Avdonin, A. S. Bulanova, *Boundary control approach to the spectral estimation problem. The case of multiple poles*. — Math. Contr. Sign. Syst. **22** (2011) no. 3, 245–265.
3. S. A. Avdonin, A. S. Bulanova, D. Y. Nicolsky, *Boundary control approach to the spectral estimation problem. The case of simple poles*. — Sampling Theory Signal Image Processing **8** (2009) no. 3, 225–248.
4. S. A. Avdonin, S. A. Ivanov, *Families of exponentials*. Cambridge Univ. Press, Cambridge, 1995.
5. S. A. Avdonin, V. S. Mikhaylov, K. Ramdani, *Reconstructing the potential for the 1D Schrödinger equation from boundary measurements*. — IMA J. Math. Control Information doi: 10.1093/imamci/dnt009 (2013).
6. S. A. Avdonin, F. Gesztesy, K. A. Makarov, *Spectral estimation and inverse initial boundary value problems*. — Inv. Probl. Imaging **4** (2010) no. 1, 1–9.
7. M. I. Belishev, *Recent progress in the boundary control method*. — Inv. Probl. **23** (2007) R1–R67.
8. M. I. Belishev, *On a relation between data of dynamic and spectral inverse problems*. — J. Math. Sci. (N. Y.) **127** (2005), 1814–183.
9. I. Trooshin, M. Yamamoto, *Riesz basis of root vectors of a non-symmetric system of first-order ordinary differential operators and application to inverse eigenvalue problems*. — Appl. Anal. **80** (2001) nos. 1-2, 19–51.
10. I. Trooshin, M. Yamamoto, *Identification problem for a one-dimensional vibrating system*. — Math. Methods Appl. Sci. **28** (2005) no. 17, 2037–2059.

Department of Mathematics
and Statistics University
of Alaska Fairbanks,
PO Box 756660
Fairbanks, AK 99775, USA
E-mail: s.avdonin@alaska.edu

Поступило 30 ноября, 2012 г.

St. Petersburg Department
of the V. A. Steklov Institute
of Mathematics of the Russian
Academy of Sciences, 191023
Fontanka 27, St.Petersburg, Russia
E-mail: vsmikhaylov@pdmi.ras.ru